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Total Time: 3:00 Hours Mathematics (Part-IT) o “Total Marks: 100
' {Fresh/New Course) :

Nate: There are three sections in this paper i.e, Section A, B &C.

VERSION :

Time Allowed: 20 Minutes "Section-A" Marks: 20
FINSTRUCTIONS: } o Attempt this section on the MCOs Answer Sheet, only.
¢ Use black ball point or marker for shading only one cirele for correct option of u question,
»- Nomark will be awarded for cutting, exasing, over writing and multiple circles shading,.
' Q,1. Choose the carrect option 1.e. ABC orD.
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6. Theslope on the points (2, 4) and (4, 6) is eqalto ...coinianneen )
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7. Inz? 4y + 62+ 8y = 0, the centre (—g, —f)isequal to . -
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® albt +azh2 =0 alaz+bib2=0 © albl-—-aZb2= 0 @ ala2=-blb2=0
9. The circle shrinks into a point(~g, —f)if . .
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10. 'The conic having ecentricity e > 1iscalled ...ocor - _ ' .
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11. ‘Theliney = ma -+ ¢ should touch the circle 224 yr =2 e = i .
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13. The order of the differential equation ( b (dy) =4 .
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14. For parabolax? = 4py,ifp < 0,theniris open ... '
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18. The function that takes  as dependent variable in response. of y s the independent variable is called ......... function,
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Total Time: 2:40 Hours Mathematics (Part-II) . Total Marks: 80
) " {Fresh/New Caurée) ' ~ N _
"Section-B"- C 0 Marks:50
Q.2.  Attempt any Ten (10) of the following parts. Each part carries equal marks. -
()  Findthe inverse function f () = 2 + 7
() Evaluate: jm Vx5
‘ ) 25 4 —5
oy e G Lo 1+Tan2z
(i) _ Find dx ity = Cosec 3x
(iv) Find < ,ify = cogxlos
(v  I(6) =sin?0i+ cos2 8+ 82k,Find F'(8)and F' (0)
(vi)  Evaluate f - d by substitution,
{vii) Use Integration by parts to evaluate f 2 Ing dar
. 1 .
& -
(vili) - Evaluate: !m dﬂ;
{ix)  Find the angles of the triangle ABC; whose vertices are A(1, 2) , B(4, 2) and €(~2,3),
(x) Fmd an equatmn of a circle which passes through the point (~3, 0) and Is concentric to circle
B Ak y —3x -4y -10=0 : _
(xi)  For whatvalue of C, theline y = mz + ¢ touchesthe circle 2 + yi= : a
(xil) Find the equation of pafabo]a with focus at F(O, 3) anddirectrixy =~3 )
(xiii) Find the equation of hyperbola with vertices at (2, —2), (—4,—2) and that passes through the point
' of coordinates (5, 1).
"Section-C" ' | ~ Marks: 30
. Note:-  Attempt any Three (3) questions. Fach question carries equal marks,
sina 1—
Q3. (8 lim l i o bl j+ el k]
a—0L & x
(b) Determine the slope of the tangent line to the curve 3z — 7y? + 14y = 27 at the polat (—3,0)
. | xz - 1 Y a
Q4 s e———dx . .
Q, _ (2} Evaluate J‘ NPT dx.
(b) InA ABC the vertices are A(0, 0), B(8, 6)and C(12, 0). Show that the right bisectors of the .
triangie ABC are concurrent,
. @5 (a) Findanequation of a circle which passes through the pomts (1,2),(3, 4) {5, -—6) ,
’ (b) - Find the equation of ellipse with vertices are at (—5,0) ared (5,0) and the ecentricity ise = %
. N d . .
Q.6. (a) Evaluate initial value problem: a—i— =z, y{(0)=

M) Ifz=yf (ﬁ) ,then show that = 22+ y g—; = 27.



